STOR VA
B RS £ T 5, T HANSAVFLEX

| _§:3

01 BSP/MEL, EAEF
BHER 1 ZHBINIR
#EO2+3 BSPAMRL, BT
BRI 2+3 24°04

gges I REHENIREER(EE)
-2 2F TH
HeeEE HHRRSNERNEE
R$ THHN
2
BRZER. FA, ENAENATHTHERENHATESHERRERNERER,
THIERe
NBR #1#45 BB 22 54
FPM ( &iR) RiEF~ EREH
&

ZWR IHEEDH Od2

31 E
STOR 04 LL VA LL PN100 4 G1/8"-28 M8x1 14 8 24 11,0 105 270 18 17 10
STOR 06 LL VA LL PN100 6 G1/8"-28 M10x1 14 8 24 11,0 105 270 18 17 12
STOR 08 LL VA LL PN100 8 G1/8"-28 M12x1 14 8 24 11,5 140 29,0 18 24 14
STOR NW 04 HL VA L PN250 6 G1/8"-28 M12x15 14 8 24 120 105 270 17 17 14
STOR NW 06 HL VA L PN250 8 G1/4"-19 M14x15 18 12 30 145 140 29,0 22 19 17
STOR NW 08 HL VA L PN250 10 G1/4"-19 M18x15 18 12 30 155 14,0 30,0 22 19 19
STORNW10HL1/4VA L PN250 12 G1/4"-19 M18x15 22 12 36 180 165 330 27 24 22
STOR NW 10 HL VA L PN250 12 G3/8"-19 M18x15 22 12 36 180 165 33,0 27 24 22
STOR NW 13 HL VA L PN250 15 G1/2"-14 M22x15 26 14 45 21,5 215 30,0 32 30 27
STOR NW 16 HL VA L PN250 18 G1/2"-14 M26x15 26 14 45 21,0 215 370 32 30 32
STOR NW 20 HL VA L PN160 22 G3/4"-14 M30x2 32 16 53 275 240 440 41 36 36
STOR NW 25 HL VA L PN160 28 G1"-11 M 36 x 2 39 18 66 320 305 490 50 46 4
STOR NW 32 HL VA L PN 160 35 G1.1/4"-11 M45x2 35 20 76 36,0 355 580 60 55 50
STOR NW 40 HL VA L PN 160 42 G11/2"-11 M52x2 55 22 87 405 405 630 70 60 60
STOR NW 03 HS VA S PN315 6 G1/4"-19 M14x15 18 12 30 165 140 310 22 19 17
STOR NW 04 HS VA S PN315 8 G1/4"-19 M16x15 18 12 30 16,5 140 31,0 22 19 19
STORNWO06 HS1/4VA S PN315 10 G1/4"-19 M18x15 18 12 30 18,5 14,0 350 27 2 22
STOR NW 06 HS VA S PN315 10 G3/8"-19 M18x15 22 12 36 185 16,56 350 27 24 22
STOR NW 08 HS VA S PN 315 12 G3/8"-19 M20x15 22 12 36 185 165 350 27 24 24
STOR NW 10 HS VA S PN315 14 G1/2"-14 M22x15 26 14 45 225 215 305 32 30 27
STOR NW 13 HS VA S PN 315 16 G1/2"-14 M24x15 26 14 45 220 215 400 32 30 30
STOR NW 16 HS VA S PN 315 20 G1/2"-14 M30x2 26 14 45 220 215 400 32 30 30
STOR NW 20 HS VA S PN160 25 G1"-11 M 36 x 2 39 18 66 31,6 305 56,0 50 46 46
STOR NW 25 HS VA S PN160 30 G1.1/4"-11 M42x2 49 20 76 370 355 640 60 55 50
STOR NW 32 HS VA S PN 160 38 G1.1/2"-11 M52x2 55 22 87 415 405 720 70 60 60

ZRRFLL=FER L=B S=E - PN=FIEESL PB=J|AIFEN - 0d2=ENER

FREA
XSTOR VA Bl RIRiSiE S, TH ot TH, B (TH SR BIMEIF)

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
27.06.2024 HANSA-FLEX AG www.hansa-flex.com 1



